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1 Frih AT R7.7.22 PSR BRHE7(<8.3) BRHET(L7.1) - Jarheac
2 HEM R7.7.22 PSR BRHE7(<9.1) BRHE9(<8.3) - Jarheac
3 SRITHT R7.7.22 PSR BRHE9(<8.6) BRHE9(<9.3) - qarheac
4 SRITHT R7.7.22 PSR BRHE7(<8.9) BRHET(<85) - qarheac
5 i ET R7.7.22 hFHYS BRHET(<7.9) BRHE9(<8.0) - qarheac
6 HET R7.7.22 JEVHRAAR BRHET(<9.4) BRHET(<9.7) - qarheac
7 i AT R7.7.22 oagF BRHE7(<8.9) BRHE9(<8.6) BT
8 i AT R7.7.22 aANIL BRHE7(<8.3) BREET(1T) BHET
9 i AT R7.7.22 FEA BMHE7(<85) BHEF(T) BT
10 HEM R7.7.22 =R BHET(<L75) BREET(<74) BT
11 i AT R7.7.21 ES A BHE7(<8.2) BREET(<76) BT
12 i AT R7.7.22 RoRD BHE3(<8.0) BREE9(<6.9) BHET
13 i AT R7.7.21 R A BHE3(<7.9) BREET(<74) BHET
14 i AT R7.7.22 <3F BHET(<8.4) BREET(L75) BHET
15 i AT R7.7.21 <H N BMHE3(<85) BRHET(<8.4) BT
16 i lT R7.7.21 54 BmHET(<8.1) BRHE9(<9.9) BHET
17 i lT R7.7.22 A= BRHEEY(<9.8) BREEY(<84) BHET




BREER

No REHE AHDEE I L-134 o L-137 BHEE
Ba/ ke Ba kg Ba kg

18 R7.7.22 ESVAL= BRHEE7(<8.1) B E9(<6.7) BREEY
19 R7.7.22 THY BRHE7(<84) R E(<7.6) BREEY
20 R7.7.21 RyFHA R ¥(<85) RHE¥(<85) BREEY
21 R7.7.22 TIE BRHE7(<83) BRHEET(<74) BREEY
22 R7.7.25 ThIA BRHEE7(<8.1) BRHEET(<74) BREEY
23 R7.7.25 THHTR R ¥(<85) BRHEEY(<74) BREEY
24 R7.7.25 HTIESH BREE(<9N B E9(<8.2) BRHEY
25 R7.7.25 =D BRHEE7(<8.1) B E9(<8.1) BRHEY
26 R7.7.25 JEVHRAAN BRHE7(<83) B E9(<7.6) BRHEY
27 R7.7.22 FHA BRHEE7(<7.8) B E9(<8.8) BRHEY
28 R7.7.25 EsVISA BRHEE7(<7.9) B E9(<8.0) [; farhcar
29 R7.7.22 ETA BHE9(<95) B E9(<6.3) [; farhcar
30 R7.7.25 RoRD R $(<6.6) BRHE9(<6.2) ‘e
31 R7.7.25 7Y BRHE9(<84) B E9(<9.0) ‘e
32 R7.7.21 2aHLA BRHE$(<75) BREES(<ID BREEd
33 R7.7.21 E4-ZA BEET(<1) B E9(<9.0) BREEY
34 R7.7.22 TIE BREHES(<8.1) BRHEES(<74) BREEd
35 R7.7.22 FRLSHF I BHEE9(<10) R E9(<94) BREEd
36 R7.7.19 AR BRHEE$(<7.0) BRHEE$(<75) BREEY
37 R7.7.19 hy3 BHEE9(<8.0) B E(<9.1) BREEd
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38 = [T R7.7.19 FYR AL BRHET(LT) BRHET(LT) - Jarheac
39 = [EIRT R7.7.19 <ain)L BRHE7(<9.0) BRHEE9(<9.7) - Jarheac
40 [LEPHT R7.7.22 54 BRHET(<L75) BRHE9(<7.2) BEET
41 = [T R7.7.19 LAY BRHET(<L7.9) BRHEE9(<86) - danhcac
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Bq. kg Ba. kg Ba kg
1 mMEET FHAI R7.7.15 7 BHEF(L11) 19.2 19
2 mMEET FHAI R7.7.20 7 BHEF(L11) 19.2 19
3 mMEE™ FHAI R7.7.20 7 BRHET(<9.4) 22.7 23
4 EEET FAEII R7.7.20 71 BEET(<1) 22.8 23
5 mMEE™ FHAI R7.7.20 7 BRHE7(<9.2) 20.2 20
6 mMEE™ FHAI R7.7.20 7 BRHE3(<85) 21.9 22
7 FmEET FHEI R7.7.20 7 BRHE(<13) 26.7 27
8 FmEET FHEI R7.7.20 7 BRHE9(<85) 335 34
9 FmEET FHEI R7.7.20 7 BRHE9(<9.9) 22.0 22
10 FmEET FHEI R7.7.20 7 BRHE9(<8.3) 18.7 19

11 mfEET FHA R7.7.20 it BRHET(<9.7) BRHE9(<9.3) - Jarheac
12 mfEET FHA R7.7.20 7 BRHE9(<9.0) 28.2 28
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